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Question Description

A

Correct Answer

Marks

is known as the ‘Father of Local Government in India’

Lord Mayo

Lord Ripon

Lord Curzon

Lord Wellesley

None of the above



Question Description

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

Who was the first major exponent of constitutionalism?

Bosanquet

A.V. Dicey

John Locke

J.S. Mill

None of the above

“International Peace and Security” is referred to in the Indian Constitution in

Preamble

Fundamental Rights

Directive Principles of State Policy

Emergency provisions

None of the above



Question Description Authority is the right to give orders and the power to exact obedience is said by:

A Simon

B Weber

C Barnard

D Fayol

E None of the above

Correct Answer D

Marks 1
Question Description The two major political parties of the U.S.A. are
A Democratic and Socialist
B Republican and Communist
Cc Independent and Democratic
D Republican and Democratic
E None of the above
Correct Answer D

Marks 1



Question Description

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

Bhoodan movement in India was launched by

Jayaprakash Narayan

The Communist Party of India

Acharya Vinoba Bhave

Acharya Narendra Dev

None of the above

The Falkland Islands issue is a dispute between two countries.

US and Cuba

Japan and North Korea

UK and Argentina

Russia and Norway

None of the above



Question Description

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

Who among the following thinker is connected with the concept of ‘General Will”?

Locke

Rousseau

Laski

Hobbes

None of the above

Who was the Congress President when India became free?

J.B. Kripalani

Sardar Patel

Mahatma Gandhi

Jawaharlal Nehru

None of the above



Question Description Ramsay Mac Donald’s Communal Award provided for

A separate electorate for depressed classes
B special privileges to the people in the Nizam Dominion
C separate courts for Muslims
D special laws for women
E None of the above
Correct Answer A
Marks 1
Question Description Who among the following proclaimed the theory of “One Nation, One State?
A Lenin
B Karl Marx
C Acton
D Mazzini
E None of the above
Correct Answer D

Marks 1



Question Description

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

Hegel Saw Civil Society as a domain of

Universality

Harmony

Particularity

Freedom

None of the above

In Weberian formulation, bureaucracy refers to:

Rationalization of collective activities

Legalization of collective activities

The most efficient form of organization

The Civil Services

None of the above



Question Description Who declared that “if our civilization fails, it will be mainly because of a breakdown of administration?”

A Charles A. Beard

B L.D. White

C Donham

D Ordway Tead

E None of the above

Correct Answer C

Marks 1
Question Description In regard to amendments, the Indian Constitution can be described as
A Flexible
B rigid
C more flexible than rigid
D more rigid than flexible
E None of the above
Correct Answer C

Marks 1



Question Description The Tenth Schedule of the Constitution of India contains

A allocation of seats in the council of States
B languages listed in the constitution
(o provision regarding the administration of tribal areas
D provision as to disqualification on the grounds of defection
E None of the above
Correct Answer D
Marks 1
Question Description The first conference of NAM was held at
A Belgrade
B Delhi
C Lusaka
D Cairo
E None of the above
Correct Answer A

Marks 1



Question Description The main responsibility of the directorate in the state administration is to

A review policies
B implement policies
C make policies
D evaluate policies
E None of the above
Correct Answer B
Marks 1
Question Description It refers to those political leaders whose main concern is power, rather than common good. Such leaders get popular support by appealing to popular emotions.
A Embargo
B Filibustering
C Demagogues
D Guillotine
E None of the above
Correct Answer Cc

Marks 1



Question Description

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

Which is the largest area

38 - Sanvordem

40- Canacona

02- Pernem

36- Quepem

None of the above

According to the Constitution of India, the term ‘District Judge’ shall not include

chief presidency magistrate

sessions judge

tribunal judge

chief judge of a small cause judge

None of the above



Question Description Who has regarded the Game theory as an interesting intellectual exercise?

A Morton Kaplan
B John Von Neumann
C William H. Riker
D Oskar Morgenstern
E None of the above
Correct Answer B
Marks 1
Question Description The power of the Supreme Court of India to decide disputes between the Centre and the States falls under its
A advisory jurisdiction
B appellate jurisdiction
C original jurisdiction
D constitutional jurisdiction
E None of the above
Correct Answer C

Marks 1



Question Description

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

Who of the following is called the father of American Public Administration?

Woodrow Wilson

Goodnow

L.D. White

Willoughby

None of the above

Who held the view that “State is prior to the individual?

Aristotle

Plato

Rousseau

Locke

None of the above



Question Description Who among the following is the father of ‘Doctrine of Passive Resistance?

A Mahatma Gandhi

B Aurobindo Ghosh

C Jawaharlal Nehru

D Andre Gunder Frank
E None of the above
Correct Answer B

Marks 1

Question Description “Leadership is the ability to pursue others to seek defined objectives enthusiastically.”
A Terry

B Keith Davis

C Barnard

D Mooney

E None of the above
Correct Answer B

Marks 1



Question Description

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

The Indian Institute of Public Administration was established in:

1957

1958

1954

1959

None of the above

In the economic sphere, the Liberal thinkers advocated

Limited Production

State regulation

Laissez-faire

system of monopolies

None of the above



Question Description

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

Which one of the following is NOT a principal of “Panchsheel”?

Non-alignment

Peaceful Co-existence

Mutual respect for each other’s territorial integrity and sovereignty

Mutual non-interference in each other’s internal affairs

None of the above

Who wrote ‘The Wealth of Nations?

Laski

Ricardo

Hegel

Adam Smith

None of the above



Question Description In what way does the Indian Parliament exercise control over the administration?

A Through Parliamentary Committees

B Through Consultative Committees of various ministers
C By making the administration send periodic reports

D By compelling the executive to issue writs

E None of the above

Correct Answer A

Marks 1

Question Description The state which has the largest number of seats reserved for the Scheduled Tribes in the Lok Sabha is
A Bihar

B Gujarat

C Uttar Pradesh

D MadhyaPradesh

E None of the above

Correct Answer D

Marks 1



Question Description

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

Economic Survey of India is published officially every year by the
Reserve Bank of India
NITI Aayog

Ministry of Finance, Govt. of India

Ministry of Industries, Govt. of India

None of the above

The concept of Public Interest Litigation originated in
the United Kingdom

Australia

the United State

Canada

None of the above



Question Description

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

“Greatest happiness of the greatest number” is the thought of

Bentham

Lindsay

Hobhouse

J.S. Mill

None of the above

Where is the headquarters of the World Health Organization situated?

Geneva

New York

London

New Delhi

None of the above



Question Description

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

‘Agenda for peace’ was proposed by

Willy Brandt

Butros Butros Ghali

Kofi Annan

Kurt Waldheim

None of the above

A diplomatic term, meaning the cessation of strained relations between States.

Coup d’ Etat

Domicile

Confederation

Detente

None of the above



Question Description The principle of supervision is inherent in the principle of:

A Span of control
B Coordination
(o Unity of command
D Hierarchy
E None of the above
Correct Answer D
Marks 1
Question Description The most essential function of the Welfare State is the creation of conditions that ensures
A Fair Election
B Freedom of expression
C Social justice
D Liberty
E None of the above
Correct Answer C

Marks 1



Question Description Politics was an unavoidable evil. This statement is identified with?

A Bal Gangadhar Tilak

B Motilal Nehru

C Mahatma Gandhi

D Jayaprakash Narayan

E None of the above

Correct Answer C

Marks 1

Question Description Which one of the following documents first declared that ‘men are created equal?
A Magna Carta

B Declaration of Independence, 1776
C Declaration of Rights of Man, 1789
D Constitution of India, 1950

E None of the above

Correct Answer B

Marks 1



Question Description Who spoke of a Common European House” and proclaimed that the doctrine of human rights transcended the ideological rivalry between communism and

capitalism?

A Mikhail Gorbachev

B Ronal Reagan

C Mitterand

D Daniel Gonsalves

E None of the above

Correct Answer A

Marks 1
Question Description The Marxist theory of development is primarily based on
A the theory of surplus value
B the means of production
C dictatorship of the proletariat
D withering away of the state
E None of the above
Correct Answer A

Marks 1



Question Description The most dominant thinker in the field of administrative thought is:

A Henry Fayol

B Herbert Simon

(o4 Max Weber

D F.W. Riggs

E None of the above

Correct Answer C

Marks 1
Question Description According to Kaplan, the most likely transformation of the balance of power system is into a
A bipolar system

B unipolar system

C universal international system
D multipolar system.

E None of the above

Correct Answer A

Marks 1



Question Description The last round of the General Agreement on Tariffs and Trade (GATT) negotiation, known as the Uruguay Round, was completed in 1994. It resulted in the

establishment of

A The World Bank
B The United Nations Development Programme (UNDP)
(03 The International Monetary Fund (IMF)
D The World Trade Organization (WTO)
E None of the above
Correct Answer D
Marks 1
Question Description “The State is everywhere: it leaves hardly a gap.” This statement explains the concept of:
A Democratic state
B Federal State
C Welfare State
D Police State
E None of the above
Correct Answer Cc

Marks 1



Question Description

A

B

Correct Answer

Marks

Comprehension

Question Description

A

Special procedure in respect of Money Bills
Article 109

Article 115

Article 120

Article 122

None of the above

A
1

Read the Passage Below and answer the questions

Since the end of the last World War, the Emperor has several times rejected the suggestion that a new palace should be built for him or
that his existing quarters should be suitable reconstructed. The Emperor refused to live in a luxurious palace, because millions of his
people were rendered homeless during the war, their standard of living had fallen and they were subject to various kinds of hardship.
The Emperor and the Empress have, therefore, continued to live in the bomb-shelter. This is hardly the place the Emperor would have
chosen to live in, as the floor of the bomb-shelter is wet for most of the time. In the last few years, the economic condition of Japan has
improved. The Emperor has, therefore, accepted the advice of his ministers that a palace should be built for him.

According to the passage, the Emperor refused to live in a palace because
he was the Emperor

his country suffered a defeat in the war



Correct Answer

Marks

Comprehension

Question Description

A

his people were rendered homeless by war
he did not wish to live better when his people were homeless and suffering hardships

None of the above

Read the Passage Below and answer the questions

Since the end of the last World War, the Emperor has several times rejected the suggestion that a new palace should be built for him or
that his existing quarters should be suitable reconstructed. The Emperor refused to live in a luxurious palace, because millions of his
people were rendered homeless during the war, their standard of living had fallen and they were subject to various kinds of hardship.
The Emperor and the Empress have, therefore, continued to live in the bomb-shelter. This is hardly the place the Emperor would have
chosen to live in, as the floor of the bomb-shelter is wet for most of the time. In the last few years, the economic condition of Japan has
improved. The Emperor has, therefore, accepted the advice of his ministers that a palace should be built for him.

The residence of the Emperor is peethily described in the passage as
a luxurious palace

hardly the place Emperor would have chosen to live in



Correct Answer

Marks

wet for most of the time

a bomb-shelter

None of the above



Comprehension

Question Description

A

Correct Answer

Marks

Read the Passage Below and answer the questions

Since the end of the last World War, the Emperor has several times rejected the suggestion that a new palace should be built for him or
that his existing quarters should be suitable reconstructed. The Emperor refused to live in a luxurious palace, because millions of his
people were rendered homeless during the war, their standard of living had fallen and they were subject to various kinds of hardship.
The Emperor and the Empress have, therefore, continued to live in the bomb-shelter. This is hardly the place the Emperor would have
chosen to live in, as the floor of the bomb-shelter is wet for most of the time. In the last few years, the economic condition of Japan has
improved. The Emperor has, therefore, accepted the advice of his ministers that a palace should be built for him.

Find a word or phrase from the passage which means “dismiss as unacceptable, inadequate or faulty”

refused

rejected

accepted the advice

chosen to live

None of the above



Comprehension

Question Description

A

Correct Answer

Marks

Read the Passage Below and answer the questions

Since the end of the last World War, the Emperor has several times rejected the suggestion that a new palace should be built for him or
that his existing quarters should be suitable reconstructed. The Emperor refused to live in a luxurious palace, because millions of his
people were rendered homeless during the war, their standard of living had fallen and they were subject to various kinds of hardship.
The Emperor and the Empress have, therefore, continued to live in the bomb-shelter. This is hardly the place the Emperor would have
chosen to live in, as the floor of the bomb-shelter is wet for most of the time. In the last few years, the economic condition of Japan has
improved. The Emperor has, therefore, accepted the advice of his ministers that a palace should be built for him.

Select the option that is closest in meaning to the statement : “The Emperor refused to live in a luxurious palace”

The Emperor denied living in a luxurious palace”

The Emperor rejected staying in a luxurious palace”

The Emperor deprived himself from living in a luxurious palace”

The Emperor indicated that he was not willing to live in a luxurious palace”

None of the above



Comprehension

Question Description

A

Correct Answer

Marks

Read the Passage Below and answer the questions

Since the end of the last World War, the Emperor has several times rejected the suggestion that a new palace should be built for him or
that his existing quarters should be suitable reconstructed. The Emperor refused to live in a luxurious palace, because millions of his
people were rendered homeless during the war, their standard of living had fallen and they were subject to various kinds of hardship.
The Emperor and the Empress have, therefore, continued to live in the bomb-shelter. This is hardly the place the Emperor would have
chosen to live in, as the floor of the bomb-shelter is wet for most of the time. In the last few years, the economic condition of Japan has
improved. The Emperor has, therefore, accepted the advice of his ministers that a palace should be built for him.

The bomb-shelter can be aptly described as the

palace of the Emperor at present

current residence of the Emperor

present royal palace

current location of the Emperor

None of the above



Question Description

Correct Answer

Marks

Question Description

Correct Answer

Marks

India's first Forest University to be established in which of the following states?
Gujarat

Rajasthan

Telangana

Uttar Pradesh

None of the above

Which city has become the new capital of Kazakhstan?
Hungary

Kiev

Nur Sultan

Astana

None of the above



Question Description

A

Correct Answer

Marks

Question Description

Correct Answer

Marks

INS Vikrant, India's first home-built aircraft carrier, has formally commissioned at which place?
Naval Dockyard, Vishakapatnam

Goa Shipyard Limited

Bombay Dockyard

Cochin Shipyard Limited

None of the above

India's first Lithium Cell Manufacturing plant is launched in which state?
Arunachal Pradesh

Madhya Pradesh

Jharkhand

Andhra Pradesh

None of the above



Question Description Who was named the Mumbai Indians' first head coach for the IPL 2023 season?

A Mark Boucher

B Virender Sehwag

C Ajit Agarkar

D Sunil Gavaskar

E None of the above

Correct Answer A

Marks 1

Question Description Who are the Star Indian Wrestlers chosen for the World Senior Championships in 2022?
A Yogeshwar Dutt and VineshPhogat

B Deepak Punia and Ravi Kumar Dahiya
C Bajrang Punia and VineshPhogat

D Ravi Kumar Dahiya and Sakshi Malik
E None of the above

Correct Answer C

Marks 1



Question Description

Correct Answer

Marks

Question Description

Correct Answer

Marks

World's largest museum of Harappan culture is going to be set up in which Indian state?
Gujarat

Rajasthan

Uttar Pradesh

Haryana

None of the above

World Ozone Day is being celebrated on which date?
September 13
September 17
September 16
September 11

None of the above



Question Description India's first and one of the world's largest carbon fibre plants, Reliance Industries is being set up in which state?

A Rajasthan
B Guijarat
C Maharashtra
D Uttar Pradesh
E None of the above
Correct Answer B
Marks 1
Question Description World Bamboo Day is being observed on which date?
A September 18
B September 17
(03 September 19
D September 20
E None of the above
Correct Answer A

Marks 1



Question Description A tank is filled in 5 hours by three pipes A, B and C. The pipe C is twice as fast as B and B is twice as fast as A. How much time will pipe A alone take to fill

the tank?
A 20 hours
B 25 hours
C 35 hours
D Cannot be determined
E None of the above
Correct Answer C

Marks 1



Question Description Read the given information carefully and answer the questions given beside:
A Car moves 8m from Point A in the north direction to reach Point B. Then it turns and moves for 10m in north-west direction. Then it turns and moves 8m in south direction. Then it turns right and
moves for 3m to reach point C, which is in west direction with respect to Point B. Then finally, it turns and moves for 10m in south-west direction to reach Point D, which is west direction with
respect to Point A.
What is the shortest distance between Point A and Point D?

A 12m

B 15m

C 17m

D 20m

E None of the above
Correct Answer B

Marks 1



Question Description Statements: Prime age school-going children in urban India have now become avid as well as more regular viewers of television, even in households without a
TV. As a result there has been an alarming decline in the extent of readership of newspapers.
Conclusions:
I. Method of increasing the readership of newspapers should be devised.

II. A team of experts should be sent to other countries to study the impact of TV. on the readership of newspapers.

A Only conclusion | follows
B Only conclusion Il follows
(03 Either | or Il follows

D Neither | nor I follows

E None of the above
Correct Answer D

Marks 1



Question Description 5. What does the area marked 1 in the figure given below represent?

Advocates
Honest

>
Swimmers Europeans
A All honest European swimmers
B All honest advocates who are swimmers
C All no-European advocates who are honest swimmers
D All non-Europeans who are honest swimmers
E None of the above

Correct Answer C

Marks 1



Question Description Find correct mirror image

]

D —

A

~J ;
E None of the above
Correct Answer C

Marks 1



Question Description On 8th Dec, 2007 Saturday falls. What day of the week was it on 8th Dec, 2006?

A Sunday
B Thursday
Cc Tuesday
D Friday
E None of the above
Correct Answer D
Marks 1
Question Description A man buys a watch for Rs. 1950 in cash and sells it for Rs. 2200 at a credit of 1 year. If the rate of interest is 10% per annum, the man:
A gains Rs. 55
B gains Rs. 50
Cc loses Rs. 30
D gains Rs. 30
E None of the above
Correct Answer B

Marks 1



Question Description At 3:40, the hour hand and the minute hand of a clock form an angle of:

A 120°
B 125°
c 130°
D 135°
E None of the above
Correct Answer C
Marks 1
Question Description The angle of elevation of a ladder leaning against a wall is 60° and the foot of the ladder is 4.6 m away from the wall. The length of the ladder is:
A 2.3 m
B 4.6 m
C 7.8 m
D 9.2 m
E None of the above
Correct Answer D

Marks 1



Question Description Study the following information carefully and answer the questions given beside.

Micky is brother in law of Akku, who has two daughters but no son. Rinku is cousin of Quki and brother of Riku. Vicky has two daughters and one son. Unni has only one son and one daughter.
Micky is the only sibling of Wiku. Tinu and Sanu are daughters of Xoxo. Donu is also the member of this family. Riku is granddaughter of Akku, who is married to Wiku. Unni and Vicky are sons in
law of Wiku.

How is Wiku related to Donu?

A Father

B Mother

C Grandfather

D Can't be determined
E None of the above
Correct Answer D

Marks 1



